
ASSEMBLY INSTRUCTIONS

YITAHOME

Notice:

1.Follow the installation instructions.Please confirm all accessories are preset before installation.

2.Do not fully tighten the screws during initial assembly,Fully tighten screws only once all pieces

 which are correctly assembled.

3.If you encounter any problems during installation,please contact our customer service

FTOFOD-6008
FTOFOD-6023
FTOFOD-6024
FTOFOD-6025

GZDW-V1

office desk



7

11

18

1PCS

1 32

1PCS

6 10

1PCS 1PCS

12

1PCS 1PCS 1PCS

17 20

1PCS 1PCS

4 5

1PCS 2PCS 1PCS 1PCS

8 9

1PCS 1PCS 1PCS

13 14 15

1PCS 1PCS

16 19

1PCS1PCS

FTOFOD-6008/6023/6024/6025



21 25

1PCS

26

22

1PCS

23 24

1PCS 1PCS 1PCS

M7*38
M6*25 M6*35

27 28 3130

A B C D E F

GH I J

H1 H2

I1

I2

J1

J2

DL

CL

DR

CR

1PCS 1PCS 1PCS 1PCS 2PCS

45PCS 26PCS 26PCS 6PCS 4PCS 18PCS

1PCS 2PCS 1PCS 1PCS 1PCS

FTOFOD-6008/6023/6024/6025

M3.5*14

M4*18

300MM



1

8

13

15

17

28
31

2

4

9

12

14

16

18

20

21

24

31

2

3

5

6

7

1011

19

22

23

27

25

30

26

FTOFOD-6008/6023/6024/6025



1PCS11

STEP1

STEP2
1PCS12

9

10

14

15

1PCS

1PCS

1PCS

1PCS

A

A

A

A

A

A

A

A

9

10

15

14

A

A

A

A

A

A

A

A

12

11

A 8PCS

FTOFOD-6008/6023/6024/6025

9

10

A 8PCS



STEP3

STEP4

1PCS13

1PCS17

1PCS18

F 4PCS

13

17 18

F

F F

F

CL CR

CL 1PCS

FTOFOD-6008/6023/6024/6025

CR 1PCS



1PCS

1PCS
STEP5

STEP6
1PCS22

A

1PCS21

8PCS

8PCSA

19

20

17

18

20

19

21

22

A

A
A

A

A

A
A

A

A

A

A

A

A

A

A

A

FTOFOD-6008/6023/6024/6025

17

18



STEP7

STEP8

23

7 8

A

A

A

1PCS23

1PCS8

A

1PCS7

3PCS

FTOFOD-6008/6023/6024/6025



STEP9

STEP10

5 6

D D

D

A

A

5 6

1PCS5

1PCS6

2PCSA

3PCSD

FTOFOD-6008/6023/6024/6025

7 8



STEP11

STEP12

A

A

A

A

2PCSA

2PCSA

FTOFOD-6008/6023/6024/6025

5
6

10

17

5 6



STEP13

STEP14

FTOFOD-6008/6023/6024/6025

B

B
B

B

B
B

3

C
C

C
C

C

C

C C

C
C

C
C

3

12PCSC

2PCSE

1PCS3

12PCSB

B

B B B

B B

B

B B

B

B

B

E

E



STEP15

STEP16

B

B
B

B

B
B

4

FTOFOD-6008/6023/6024/6025

E

E
3

1PCS4

B 6PCS

1PCS30

2PCSE

30



STEP17

STEP18

D

D
D

C

C
C

C
C

C

B

B

B

B

6PCSC

3PCSD

1PCS27

4PCSB

27

FTOFOD-6008/6023/6024/6025

4



STEP20

STEP19

C

C

C

C

1PCS25

1PCS26

4PCSC

25

26

1PCS28

28

FTOFOD-6008/6023/6024/6025



STEP21

STEP22
A

A

A

A

H1

H2

H2

J2 F

F

H1

H2

H2

1PCS24

2PCS31

4PCSA

24

31

31

2PCSF

2PCSH

1PCSJ2

FTOFOD-6008/6023/6024/6025

1PCS16

16



STEP23

STEP24

F

F

F

F

4PCSF

1PCSDL

DL

DR

F
F J1

2PCSF

1PCSJ1

FTOFOD-6008/6023/6024/6025

F

F
J1

F

F

1PCSDR



STEP25

STEP26

F

F

F

F

F
F

F

F

I2

I1

4PCSF

1PCSI

FTOFOD-6008/6023/6024/6025
1PCS16

16



STEP27

STEP28

B

B

B

B

C

C

C

C

1

2

2

1

1PCS1

4PCSB

2PCS2

4PCSC

FTOFOD-6008/6023/6024/6025



F

F

G

2PCSF

1PCSG
STEP29

FTOFOD-6008/6023/6024/6025



 

Pure & Easy


	图纸和视图
	模型

	图纸和视图
	模型

	图纸和视图
	模型

	图纸和视图
	模型

	图纸和视图
	模型

	图纸和视图
	模型

	图纸和视图
	模型

	图纸和视图
	模型
	OLE1


	图纸和视图
	模型
	OLE1


	图纸和视图
	模型
	OLE1


	图纸和视图
	模型
	OLE1


	图纸和视图
	模型
	OLE1


	图纸和视图
	模型
	OLE1


	图纸和视图
	模型
	OLE1


	图纸和视图
	模型
	OLE1


	图纸和视图
	模型
	OLE1


	图纸和视图
	模型
	OLE1


	图纸和视图
	模型
	OLE1


	图纸和视图
	模型
	OLE1



